
Problem V

y(t) =

{
4
3
sin t− 2

3
sin 2t for 0 ≤ t ≤ π

8
3
sin t for t > π,

Problem W

S(0) = π/2, S(π) = π, a0 =
3π

4
, an =

cosnπ − 1

πn2
, bn =

3

n

Sf (x) =
3π

4
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π
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cos(2k − 1)x
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sinnx
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Problem X
Xn(x)Tn(t) = An cosnxe

(2−n2)t

u(x, t) =
3

2
e2t + 2 cosxet +

1

2
cos 2xe−2t

Problem Y

c = ±2, f(z) = − i

2
e2z + iC or f(z) =

i

2
e−2z + iC

Problem Z

f(z) =
∞∑
n=0

(−1)n

n!z2(n+1)
, Resz=0f(z) = 0.

Problem Æ
Det komplekse integralet er pi

4
e−8−6i og realdelen blir π cos 6

4e8
.

Problem Ø ∫ 2π

0

dθ

5 + 4 sin θ
=

2π

3

Problem Å ∫ ∞
0

cosx− cos 5x

2x2
dx = π.
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